

EXAMPLES OF PEIRCE DECOMPOSITION OF GENERALIZED JORDAN TRIPLE SYSTEMS OF SECOND ORDER II — BALANCED CLASSICAL CASES —

NORIAKI KAMIYA

University of Aizu

Aizu-Wakamatsu

Fukushima, 965-8580, Japan

e-mail: kamiya@u-aizu.ac.jp

Abstract

In this paper, we consider examples of the Peirce decomposition of simple balanced generalized Jordan triple systems of second order associated with Lie algebras. By virtue of choice of a tripotent element for these triple systems, we can realize the decomposition without using the root systems of Lie algebras.

0. Introduction

One of the main object of study in this article is to provide examples of a Peirce decomposition of simple balanced generalized Jordan triple systems of second order.

It is known that the all simple Lie algebras L have a decomposition of 5-graded Lie algebras as follows:

$$L = L_{-2} \oplus L_{-1} \oplus L_0 \oplus L_1 \oplus L_2,$$

starting with a triple system, which has a triple product's structure into

2000 Mathematics Subject Classification: 17A40, 17B60.

Keywords and phrases: triple systems, Lie algebras.

Received July 19, 2006

© 2006 Pushpa Publishing House

the subspace component L_1 of L . And if $\dim L_{-2} = \dim L_2 = 1$, then it is said to be a *balanced triple system* for L_1 , furthermore, a property of 5-grading of Lie algebras is reduced from that property of triple systems equipped with 2nd order (to see, [6, 7, 8, 9, 10]). This is one of simple reasons for us to consider about the triple systems.

General speaking for our mathematical field (that is, nonassociative algebras), it seems that nonassociative algebras are rich in algebraic structures and mathematical physics. They provide an important common ground for various branches of mathematics, not only for pure algebra and differential geometry, but also for representation theory and algebraic geometry. That is, the concept of nonassociative algebras which contain Jordan algebras (superalgebras) and Lie algebras (superalgebras) plays an important role in many mathematical and physical subjects (for example, [4], [8], [17], [25], [26], [29], [30], etc.). We have determined that the construction and characterization of these algebras can be expressed in terms of the notion of triple systems ([22], [9], [10], [27]), in particular, by using the standard embedding method ([23], [24], [11], [13], [28]).

Describing our recent results in brief, we find the following:

* For the construction of simple Lie algebras, the generalized Jordan triple system of second order (that is, the $(-1, 1)$ -Freudenthal-Kantor triple system) is a useful concept ([6], [7], [8], [9], [10], [11], [20]).

* For the construction of simple Lie superalgebras, the $(-1, -1)$ -Freudenthal-Kantor triple system is a useful concept ([13], [16], [2], [3], [18]).

* For the construction of Jordan superalgebras, the δ -Jordan-Lie triple system is a useful concept ([27], [14], [15]).

* For the characterization and representation of mathematical physics, the triple system is useful concept, in particular, Yang-Baxter equations, generalized Zorn vector matrix, etc., ([26], [28], [17], [19]).

Our purpose is to propose a unified structural theory for triple systems. In previous work [22], we have studied the Peirce decomposition

of the generalized Jordan triple system U of second order by employing a tripotent element e of U , (tripotent element means $\{eee\} = e$). The Peirce decomposition of U is described as follows:

$$U = U_{00} \oplus U_{\frac{1}{2}\frac{1}{2}} \oplus U_{11} \oplus U_{\frac{3}{2}\frac{3}{2}} \oplus U_{-\frac{1}{2}0} \oplus U_{01} \oplus U_{\frac{1}{2}2} \oplus U_{13},$$

where $L(a) = \{eea\} = \lambda a$ and $R(a) = \{aee\} = \mu a$ if $a \in U_{\lambda\mu}$.

In particular, if the tripotent element is the left unit (left unit element e means $eex = x$, $\forall x \in U$), then we have

$$U = U_{11}^+ \oplus U_{11}^- \oplus U_{13}^+ \oplus U_{13}^-,$$

where $Q(x) = \pm x$ if $x \in U_{11}^\pm$, and $Q(x) = \pm 3x$ if $x \in U_{13}^\pm$.

On the other hand, for the Peirce decomposition of a Jordan triple system U , it is well known that

$$U = U_{00} \oplus U_{\frac{1}{2}\frac{1}{2}} \oplus U_{11}, \text{ (only 3-component's decomposition).}$$

In the present article, we shall investigate examples of the Peirce decomposition of simple balanced generalized Jordan triple systems of second order. And only consider classical type cases, for exceptional cases, we shall deal with it in forthcoming paper [12].

We are concerned with triple systems which have finite dimensionality over a field Φ of characteristic $\neq 2$ or 3, unless otherwise specified.

1. Definitions and Preamble

In order to render this paper as self-contained as possible, we first recall the definition of a generalized Jordan triple system of second order (hereafter, referred to as GJTS of 2nd order), and the construction of Lie algebras associated with GJTS of 2nd order.

A vector space V over a field Φ , endowed with a trilinear operation $V \times V \times V \rightarrow V$, $(x, y, z) \mapsto \{xyz\}$, is said to be a GJTS of 2nd order if

the following two conditions are satisfied:

$$(J1) \{ab\{xyz\}\} = \{\{abx\}yz\} - \{x\{bay\}z\} + \{xy\{abz\}\}, (GJTS)$$

$$(K1) K(K(a, b)x, y) - L(y, x)K(a, b) - K(a, b)L(x, y) = 0, (2nd \text{ order})$$

where $L(a, b)c = \{abc\}$ and $K(a, b)c = \{acb\} - \{bca\}$.

Furthermore, if the GJTS of 2nd order satisfies

$$\dim_{\Phi} \{K(a, b)\}_{span} = 1,$$

then it is said to be *balanced*.

On the other hand, we can generalize the concept of GJTS of 2nd order as follows (see [6], [7], [10], [13] and the references therein).

For $\varepsilon = \pm 1$ and $\delta = \pm 1$, if the triple product satisfies

$$(ab(xyz)) = ((abx)yz) + \varepsilon(x(bay)z) + (xy(abz)),$$

$$K(K(a, b)c, d) - L(d, c)K(a, b) + \varepsilon K(a, b)L(c, d) = 0,$$

where $L(x, y)z = (xyz)$ and $K(a, b)c = (acb) - \delta(bca)$, then it is said to be an (ε, δ) -Freudenthal-Kantor triple system (hereafter abbreviated as (ε, δ) -F.-K.t.s.).

The triple products are generally denoted by $\{xyz\}$, (xyz) , $[xyz]$, and $\langle xyz \rangle$, as is our convention.

Remark. We note that the concept of GJTS of 2nd order coincides with that of $(-1, 1)$ -F.-K.t.s. Thus we can construct the simple Lie algebras or superalgebras by means of the standard embedding method ([20], [6, 7, 8, 9, 10], [2], [13], [16], [18]).

Proposition 1.1 ([8], [13]). *Let $U(\varepsilon, \delta)$ be an (ε, δ) -F.-K.t.s. If J is an endomorphism of $U(\varepsilon, \delta)$ such that $J\langle xyz \rangle = \langle JxJyJz \rangle$ and $J^2 = -\varepsilon\delta Id$, then $(U(\varepsilon, \delta), [xyz])$ is a Lie triple system (the case of $\delta = 1$) or an anti-Lie triple system (the case of $\delta = -1$) with respect to the product*

$$[xyz] := \langle xJyz \rangle - \delta \langle yJxz \rangle + \delta \langle xJzy \rangle - \langle yJzx \rangle.$$

Corollary. *Let $U(\varepsilon, \delta)$ be an (ε, δ) -F.-K.t.s. Then the vector space $T(\varepsilon, \delta) = U(\varepsilon, \delta) \oplus U(\varepsilon, \delta)$ becomes a Lie triple system (the case of $\delta = 1$) or an anti-Lie triple system (the case of $\delta = -1$) with respect to the triple product defined by*

$$\left[\begin{pmatrix} a \\ b \end{pmatrix} \begin{pmatrix} c \\ d \end{pmatrix} \begin{pmatrix} e \\ f \end{pmatrix} \right] = \begin{pmatrix} L(a, d) - \delta L(c, b) & \delta K(a, c) \\ -\varepsilon K(b, d) & \varepsilon L(d, a) - \delta L(b, c) \end{pmatrix} \begin{pmatrix} e \\ f \end{pmatrix}.$$

Thus we can obtain the standard embedding Lie algebra (the case of $\delta = 1$) or Lie superalgebra (the case of $\delta = -1$), $L(\varepsilon, \delta) = D(T(\varepsilon, \delta), T(\varepsilon, \delta)) \oplus T(\varepsilon, \delta)$, associated with $T(\varepsilon, \delta)$, where $D(T(\varepsilon, \delta), T(\varepsilon, \delta))$ is the set of inner derivations of $T(\varepsilon, \delta)$. That is, these vector spaces $D(T(\varepsilon, \delta), T(\varepsilon, \delta))$ and $T(\varepsilon, \delta)$ mean

$$D(T(\varepsilon, \delta), T(\varepsilon, \delta)) := \left\{ \begin{pmatrix} L(a, b) & K(c, d) \\ K(e, f) & \varepsilon L(b, a) \end{pmatrix} \right\}_{span}$$

and

$$T(\varepsilon, \delta) := \left\{ \begin{pmatrix} x \\ y \end{pmatrix} \mid x, y \in U(\varepsilon, \delta) \right\}_{span}.$$

Remark. We note that $L(\varepsilon, \delta) := L_{-2} \oplus L_{-1} \oplus L_0 \oplus L_{-1} \oplus L_{-2}$ is the 5-graded Lie algebra or Lie superalgebra, such that $L_{-1} = U(\varepsilon, \delta)$, $D(T(\varepsilon, \delta), T(\varepsilon, \delta)) = L_{-2} \oplus L_0 \oplus L_{-2}$ with $[L_i, L_j] \subseteq L_{i+j}$.

By straightforward calculations for the correspondence of the $(1, 1)$ balanced F.-K.t.s. with the $(-1, 1)$ balanced F.-K.t.s., we obtain the following.

Proposition 1.2. *Let $(U, \langle xyz \rangle)$ be a $(1, 1)$ F.-K.t.s. If there is an endomorphism J of U such that $J\langle xyz \rangle = \langle JxJyJz \rangle$ and $J^2 = -Id$, then $(U, \{xyz\})$ is a GJTS of 2nd order with respect to the product defined by $\{xyz\} := \langle xJyz \rangle$.*

In [9], we obtained all simple $(1, 1)$ -balanced F.-K.t.s. over the complex number field. Thus, these results (by the special case of above Proposition 1.2) give us a list of the simple balanced GJTSs of 2nd order.

In the next section, we will discuss the explicit forms of this list and investigate examples of the Peirce decomposition by providing a tripotent element of the simple balanced GJTSs of 2nd order.

2. Main Results (Classical Types)

On the basis of the results presented in Section 1 and [9], in order to make this section as comprehensive as possible, we first summarize the classical types of simple balanced GJTSs of 2nd order as follows:

A_n -type. Let $M_A(n)$ be a set of the matrix

$$\left\{ \begin{pmatrix} 0 & x \\ y & 0 \end{pmatrix} \middle| x, y \in \text{Mat}(1, n; \mathbf{C}) \right\}.$$

For $M_A(n)$, we can define a triple product by

$$\{xyz\} = x \circ (PJy \circ z) + z \circ (PJy \circ x) - PJy \circ (x \circ z),$$

where

$$x \circ y = \begin{pmatrix} 0 & x_1 \\ x_2 & 0 \end{pmatrix} \circ \begin{pmatrix} 0 & y_1 \\ y_2 & 0 \end{pmatrix} = \begin{pmatrix} B(x_1, y_2) & 0 \\ 0 & B(y_1, x_2) \end{pmatrix},$$

$B(x, y) = xy^T$ (y^T is the transpose matrix of y), and furthermore

$$P : \begin{pmatrix} 0 & x \\ y & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 0 & x \\ -y & 0 \end{pmatrix} \text{ and } J : \begin{pmatrix} 0 & x \\ y & 0 \end{pmatrix} \rightarrow \begin{pmatrix} 0 & y \\ -x & 0 \end{pmatrix}.$$

That is, if we set

$$a = B(z_1, y_1)x_1 + B(x_1, y_1)z_1 - B(z_1, x_2)y_2$$

and

$$b = B(y_2, z_2)x_2 + B(y_2, x_2)z_2 - B(x_1, z_2)y_1,$$

then by straightforward calculations,

$$\{xyz\} = \begin{pmatrix} 0 & a \\ b & 0 \end{pmatrix}.$$

C_n -type. We identify the vector space $\{x | x \in \text{Mat}(1, 2n; \mathbf{C})\}$ with

$$M_c(n) = \left\{ \begin{pmatrix} 0 & x \\ x & 0 \end{pmatrix} \middle| x \in \text{Mat}(1, 2n; \mathbf{C}) \right\}.$$

For $M_c(n)$, we can define a triple product by

$$\{xyz\} = \frac{1}{2} \{ \langle Jy | x \rangle z + \langle Jy | z \rangle x + \langle x | z \rangle Jy \},$$

where J is an endomorphism of $M_c(n)$ such that $J^2 = -Id$ and $\langle x | y \rangle$ is an anti-symmetric bilinear form satisfying the relation $\langle Jx | y \rangle = \langle Jy | x \rangle = -\langle x | Jy \rangle$.

Remark. For the C_n -type of simple balanced GJTS of 2nd order, there exist an endomorphism and a bilinear form such that

$$J : (x_1, \dots, x_n, x_{n+1}, \dots, x_{2n}) \rightarrow (-x_{n+1}, \dots, -x_{2n}, x_1, \dots, x_n)$$

and

$$\langle x | y \rangle = x_1 y_{n+1} + \dots + x_n y_{2n} - x_{n+1} y_1 - \dots - x_{2n} y_n,$$

for $x = (x_1, \dots, x_n, x_{n+1}, \dots, x_{2n})$ and $y = (y_1, \dots, y_n, y_{n+1}, \dots, y_{2n})$.

B_n, D_n -types. We identify the space $\{x | x \in \text{Mat}(2, p; \mathbf{C})\}$ with

$$M_{B, D}(p) = \left\{ \begin{pmatrix} 0 & x \\ x & 0 \end{pmatrix} \middle| x \in \text{Mat}(2, p; \mathbf{C}) \right\}.$$

For $M_{B, D}(p)$, we can define a triple product by

$$\{xyz\} = x \circ (PJy \circ z) + z \circ (PJy \circ x) - PJy \circ (x \circ z),$$

where

$$x \circ y = \begin{pmatrix} 0 & x \\ x & 0 \end{pmatrix} \circ \begin{pmatrix} 0 & y \\ y & 0 \end{pmatrix} = \begin{pmatrix} (\sigma_0 \circ B(x, y))^T & 0 \\ 0 & B(y, x)\sigma_0 \end{pmatrix},$$

$B(x, y) = xy^T$ (2 by 2 matrix), $\sigma_0 = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$, and $J = \sigma_0$.

That is,

$$\{xyz\} = \begin{pmatrix} 0 & -zy^T x - xy^T z + zx^T y \\ -zy^T x - xy^T z + zx^T y & 0 \end{pmatrix}.$$

Remark. The standard embedding Lie algebras, which are obtained from the types of the triple systems A_{n-1} , $B_n(p = 2n - 3)$, C_n and $D_n(p = 2n - 4)$ correspond to the types of the classical simple Lie algebras, respectively, ([9], [10]).

In the A_n -type balanced GJTS of 2nd order:

if we set $e = \begin{pmatrix} 0 & e_1 \\ e_1 & 0 \end{pmatrix}$, where e_1 is a $(1, 0, \dots, 0) : 1 \times n$ matrix, then by

straightforward calculations, we obtain $\{eee\} = e$ and $\{eex\} = x$, $\forall x \in U$.

On the other hand, we have

$$R(x) = \{xee\} = x \text{ and } x = \begin{pmatrix} 0 & x_1 \\ x_2 & 0 \end{pmatrix}$$

$$\langle \Rightarrow \rangle \begin{cases} B(e_1, e_1)x_1 + B(x_1, e_1)e_1 - B(e_1, x_2)e_1 = x_1 \\ B(e_1, e_1)x_2 + B(e_1, x_2)e_1 - B(x_1, e_1)e_1 = x_2 \end{cases}$$

$$\langle \Rightarrow \rangle B(e_1, x_2) = B(x_1, e_1)$$

$$\langle \Rightarrow \rangle \text{ if } x_1 = (a_1, \dots, a_n) \text{ and } x_2 = (b_1, \dots, b_n), \text{ then } a_1 = b_1.$$

Similarly, we have

$$R(x) = \{xee\} = 3x \text{ and } x = \begin{pmatrix} 0 & x_1 \\ x_2 & 0 \end{pmatrix} \langle \Rightarrow \rangle$$

if $x_1 = (a_1, \dots, a_n)$ and $x_2 = (b_1, \dots, b_n)$, then $a_1 = -b_1$, $a_i = b_i = 0$ ($2 \leq i$).

Furthermore, we have

$$Q(x) = \{exe\} = x \langle \Rightarrow \rangle a_2 = -b_2, \dots, a_n = -b_n,$$

$$Q(x) = -x \langle \Rightarrow \rangle a_1 = b_1 = 0, a_i = b_i \ (2 \leq i),$$

$$Q(x) = 3x \langle \Rightarrow \rangle a_1 = -b_1, a_i = b_i = 0 \ (2 \leq i),$$

$$Q(x) = -3x \langle \Rightarrow \rangle x = 0.$$

Hence, we obtain a Peirce decomposition with respect to the above tripotent e as follows:

$$\begin{aligned}
 x &= \begin{pmatrix} 0 & x_1 \\ x_2 & 0 \end{pmatrix} = \begin{pmatrix} 0 & (a_1, \dots, a_n) \\ (b_1, \dots, b_n) & 0 \end{pmatrix} \\
 &= \begin{pmatrix} 0 & \left(\frac{a_1+b_1}{2}, \frac{a_2-b_2}{2}, \dots, \frac{a_n-b_n}{2}\right) \\ \left(\frac{a_1+b_1}{2}, -\frac{a_2-b_2}{2}, \dots, -\frac{a_n-b_n}{2}\right) & 0 \end{pmatrix} \\
 &\quad + \begin{pmatrix} 0 & \left(0, \frac{a_2+b_2}{2}, \dots, \frac{a_n+b_n}{2}\right) \\ \left(0, \frac{a_2+b_2}{2}, \dots, \frac{a_n+b_n}{2}\right) & 0 \end{pmatrix} \\
 &\quad + \begin{pmatrix} 0 & \left(\frac{a_1-b_1}{2}, 0, \dots, 0\right) \\ \left(-\frac{a_1-b_1}{2}, 0, \dots, 0\right) & 0 \end{pmatrix} \\
 &\in U_{11}^+ \oplus U_{11}^- \oplus U_{13}^+ = U.
 \end{aligned}$$

In the B_n - and D_n -types of balanced GJTS U of 2nd order:

if we set $i = \sqrt{-1}$, and e is an $\begin{pmatrix} i & 0 & \dots & 0 \\ 0 & i & \dots & 0 \end{pmatrix}, \dots, 2 \times p$ matrix, then by straightforward calculations, we obtain

$$\{eee\} = e \text{ and } \{eex\} = x, \forall x \in U.$$

On the other hand, we have

$$\begin{aligned}
 R(x) &= \{xee\} = x \\
 \langle \Rightarrow \rangle \begin{pmatrix} 0 & -ee^T x - xe^T e + ex^T e \\ -ee^T x - xe^T e + ex^T e & 0 \end{pmatrix} &= \begin{pmatrix} 0 & x \\ x & 0 \end{pmatrix} \\
 \langle \Rightarrow \rangle xe^T e = ex^T e \langle \Rightarrow \rangle xe^T = ex^T, \text{ by } ee^T &= \begin{pmatrix} -1 & 0 \\ 0 & -1 \end{pmatrix}.
 \end{aligned}$$

Similarly, we have

$$R(x) = \{xee\} = 3x \langle \Rightarrow \rangle xe^T e = -ex^T e \langle \Rightarrow \rangle xe^T = -ex^T.$$

Furthermore, we obtain

$$Q(x) = \{exe\} = x \langle \Rightarrow \rangle \{exe\} = \begin{pmatrix} 0 & -2ex^T e - x \\ -2ex^T e + x & 0 \end{pmatrix} = x$$

$$\langle \Rightarrow \rangle x = -ex^T e \langle \Rightarrow \rangle xe^T = -ex^T.$$

$$Q(x) = \{exe\} = -x \langle \Rightarrow \rangle xe^T = 0.$$

$$Q(x) = 3x \langle \Rightarrow \rangle ex^T e = -2x \langle \Rightarrow \rangle 2xe^T = ex^T.$$

$$Q(x) = -3x \langle \Rightarrow \rangle x = ex^T e \langle \Rightarrow \rangle xe^T = -ex^T.$$

Hence, we obtain a Peirce decomposition with respect to the tripotent defined by using the above e ,

$$x = \frac{x + ex^T e}{2} + \frac{x - ex^T e}{2} \in U_{13}^- \oplus U_{11}^+ = U.$$

In the C_n -type balanced GJTS U of 2nd order:

if we set e as an $(i, 0 \cdots 0, 0 \cdots 0) \cdots 1 \times 2n$ matrix, then we obtain

$$\{eee\} = e \text{ and } \langle Je | e \rangle = Id.$$

By straightforward calculations, we have

$$\{eex\} = \frac{1}{2} (\langle Je | x \rangle e + \langle e | x \rangle Je + x),$$

$$\{xee\} = \frac{1}{2} (x + \langle Je | x \rangle e + \langle x | e \rangle Je),$$

$$\{exe\} = \langle Jx | e \rangle e.$$

On the other hand, by the relation $\langle Jx | y \rangle = -\langle x | Jy \rangle$, we have

$$\{exe\} = \langle Jx | e \rangle e = -\langle x | Je \rangle e = \langle Je | x \rangle e.$$

Hence, we obtain

$$\{eex\} = x \langle = \rangle x = (x_1, 0 \cdots 0) \text{ for } x = (x_1, x_2, \dots, x_{2n}),$$

$$\{eex\} = \frac{1}{2} x \langle = \rangle x = (0, x_2, \dots, x_n, 0, x_{n+2}, \dots, x_{2n}) \text{ for } x = (x_1, \dots, x_{2n}),$$

$$\{eex\} = 0 \langle = \rangle x = (0 \cdots 0, x_{n+1}, 0 \cdots 0) \text{ for } x = (x_1, \dots, x_{2n}),$$

$$\{eex\} = \frac{3}{2} x \langle = \rangle x = 0, \{eex\} = -\frac{1}{2} x \langle = \rangle x = 0, \{xee\} = 3x \langle = \rangle x = 0,$$

$$\{xee\} = \frac{1}{2} x \langle = \rangle x = (0, x_2, \dots, x_n, 0, x_{n+2}, \dots, x_{2n}),$$

$$\{xee\} = x \langle = \rangle x = (x_1, 0, \dots, 0, x_{n+1}, 0, \dots, 0).$$

Therefore, we obtain a Peirce decomposition with respect to the tripotent element e as follows:

$$U = U_{\frac{1}{2}\frac{1}{2}} \oplus U_{11} \oplus U_{01},$$

where

$$U_{\frac{1}{2}\frac{1}{2}} = \{(0, x_2, \dots, x_n, 0, x_{n+2}, \dots, x_{2n})\}_{span},$$

$$U_{11} = \{(x_1, 0, \dots, 0)\}_{span}$$

and

$$U_{01} = \{(0 \cdots 0, x_{n+1}, 0 \cdots 0)\}_{span}.$$

These imply the relation:

$$L(x)(2L(x) - Id)(L(x) - Id) = 0, \text{ for } L(x) = \{eex\}.$$

From these results, we note that there are several Peirce decompositions by virtue of choice of tripotent elements.

Remark. For the balanced GJTSs of 2nd order of exceptional types G_2 , F_4 , E_6 , E_7 and E_8 associated with exceptional simple Lie algebras, we will consider their Peirce decompositions in forthcoming paper [12].

Remark. For the balanced GJTSs of 2nd order, a study has been considered from a geometrical approach (see [1]), that is, he conducted the correspondence of quaternionic structures on symmetric spaces with balanced Freudenthal-Kantor triple systems. Thus it seems that our decompositions are useful in the detail's characterization.

Remark. It seems that this field in nonassociative algebras is very important subject in mathematical physics and differential geometry as well as a characterization and construction of Lie algebras, Lie superalgebras and Yang-Baxter equations. Also, it seems that these triple systems will become useful tools and concept to characterize about infinite dimensional Lie algebras and superalgebras.

References

- [1] W. Bertram, Complex and quaternionic structures on symmetric spaces-correspondence with Freudenthal-Kantor triple systems, *Sophia Kokyuroku in Mat.* 45, Theory of Lie Groups and Manifolds, R. Miyaoka and T. Tamaru, eds., Sophia Univ., Japan, 2002, pp. 57-76.
- [2] A. Elduque, N. Kamiya and S. Okubo, Simple $(-1, -1)$ balanced Freudenthal-Kantor triple systems, *Glasg. Math. J.* 45(2) (2003), 353-372.
- [3] A. Elduque, N. Kamiya and S. Okubo, Balanced Freudenthal-Kantor triple systems and noncommutative Jordan Algebras, *J. Alg.*, to appear.
- [4] N. Jacobson, Lie and Jordan triple systems, *Amer. J. Math.* 71 (1949), 149-170.
- [5] N. Jacobson, Structure and representations of Jordan algebras, *Amer. Math. Soc. Colloq. Publ.*, Vol. 39, 1968.
- [6] N. Kamiya, A structure theory of Freudenthal-Kantor triple systems, *J. Alg.* 110 (1987), 108-123.
- [7] N. Kamiya, A construction of anti-Lie triple systems from a class of triple systems, *Mem. Fac. Sci. Shimane Univ.* 22 (1988), 51-62.
- [8] N. Kamiya, A structure theory of Freudenthal-Kantor triple systems. II, *Comment. Math. Univ. St. Paul.* 38 (1989), 41-60.
- [9] N. Kamiya, The construction of all simple Lie algebras over C from balanced Freudenthal-Kantor triple systems, *Contributions to General Algebra*, Vol. 7, Hölder, Pichler, Tempisky, Vienna, 1991, pp. 205-213.
- [10] N. Kamiya, On Freudenthal-Kantor triple systems and generalized structure algebras, *Proceedings of Non-Associative Algebra and its Applications*, Santos Gonzales, ed., *Math. Appl.* 303 (1994), 198-203.

- [11] N. Kamiya, On a realization of the exceptional simple graded Lie algebras of the second kind and Freudenthal-Kantor triple systems, *Bull. Polish Acad. Sci. Math.* 46(1) (1998), 55-65.
- [12] N. Kamiya, Examples of Peirce decomposition of generalized Jordan triple systems of second order-balanced exceptional cases, *Contemp. Math. (A.M.S.)*, to appear.
- [13] N. Kamiya and S. Okubo, On δ -Lie supertriple systems associated with (ε, δ) Freudenthal-Kantor supertriple systems, *Proc. Edinb. Math. Soc.* 43 (2000), 243-260.
- [14] N. Kamiya and S. Okubo, A construction of Jordan superalgebras from Jordan-Lie triple systems, *Lecture Notes in Pure and Appl. Math.* 211, *Nonass. Alg. and its Appl.*, Costa, Peresi, etc., eds., Marcel Dekker, Inc., 2002, pp. 171-176.
- [15] N. Kamiya and S. Okubo, A construction of simple Jordan superalgebra of F type from a Jordan-Lie triple system, *Ann. Mat. Pura Appl.* 181 (2002), 339-348.
- [16] N. Kamiya and S. Okubo, Construction of Lie superalgebras $D(2, 1; \alpha)$, $G(3)$ and $F(4)$ from some triple systems, *Proc. Edinb. Math. Soc.* 46 (2003), 87-98.
- [17] N. Kamiya and S. Okubo, On generalized Freudenthal-Kantor triple systems and Yang-Baxter equations, *Proc. XXIV International Coll. Group Theoretical Methods in Physics* (2003), 815-818.
- [18] N. Kamiya and S. Okubo, A construction of simple Lie superalgebras, $P(n)$, $Q(n)$ and certain types from triple systems, *Bull. Austral. Math. Soc.* 69 (2004), 113-123.
- [19] N. Kamiya and S. Okubo, On composition, quadratic and some triple systems, preprint.
- [20] I. L. Kantor, Models of exceptional Lie algebras, *Soviet Math. Dokl.* 14 (1973), 254-258.
- [21] I. L. Kantor, A generalization of the Jordan approach to symmetric Riemannian spaces, *The Monster and Lie algebras*, Ohio University, Math. Research Ins. Pub. 7 (1998), 221-234.
- [22] I. L. Kantor and N. Kamiya, A Peirce decomposition for generalized Jordan triple systems and second order, *Comm. Algebra* 31(12) (2003), 5875-5913.
- [23] W. G. Lister, A structure theory of Lie triple systems, *Trans. Amer. Math. Soc.* 72 (1952), 217-242.
- [24] K. Meyberg, Lecture on algebras and triple systems, *Lecture Notes*, University of Virginia, 1972.
- [25] E. Neher, *Jordan Triple Systems by the Grid Approach*, *Lecture Notes in Math.* 1280, Springer, Berlin, New York, 1987.
- [26] S. Okubo, *Introduction to Octonian and other Non-associative Algebras in Physics*, Cambridge University Press, 1995.

- [27] S. Okubo and N. Kamiya, Jordan-Lie superalgebras and Jordan-Lie triple systems, J. Alg. 198 (1997), 388-411.
- [28] S. Okubo and N. Kamiya, Quasi-classical Lie superalgebras and Lie supertriple systems, Comm. in Alg. 30(8) (2002), 3825-3850.
- [29] M. Scheunert, The Theory of Lie Superalgebras, Springer, 1970.
- [30] K. A. Zhevlakov, A. M. Slinko, I. P. Shestakov and A. I. Shirshov, Rings that are Nearly Associative, Academic Press, New York, London, 1982.

